

Student Name: \_\_\_\_\_

Score: \_\_\_\_\_

**Add or Subtract Like Fractions**

E

$$\frac{1}{2} + \frac{1}{2} = \square$$

$$\frac{5}{7} - \frac{2}{7} = \square$$

$$\frac{1}{6} + \frac{5}{6} = \square$$

$$\frac{2}{3} - \frac{1}{3} = \square$$

$$\frac{4}{9} + \frac{7}{9} = \square$$

$$\frac{6}{7} - \frac{3}{7} = \square$$

$$\frac{1}{4} + \frac{3}{4} = \square$$

$$\frac{4}{5} - \frac{2}{5} = \square$$

$$\frac{3}{8} + \frac{5}{8} = \square$$

$$\frac{6}{7} - \frac{4}{7} = \square$$

$$\frac{3}{5} + \frac{1}{5} = \square$$

$$\frac{3}{4} - \frac{1}{4} = \square$$

$$\frac{1}{8} + \frac{7}{8} = \square$$

$$\frac{5}{6} - \frac{1}{6} = \square$$

$$\frac{8}{9} + \frac{5}{9} = \square$$

Student Name: \_\_\_\_\_

Score: \_\_\_\_\_

**Answer key**

**Add or Subtract Like Fractions**

E

$$\frac{1}{2} + \frac{1}{2} = 1$$

$$\frac{5}{7} - \frac{2}{7} = \frac{3}{7}$$

$$\frac{1}{6} + \frac{5}{6} = 1$$

$$\frac{2}{3} - \frac{1}{3} = \frac{1}{3}$$

$$\frac{4}{9} + \frac{7}{9} = \frac{11}{9} \text{ or } 1\frac{2}{9}$$

$$\frac{6}{7} - \frac{3}{7} = \frac{3}{7}$$

$$\frac{1}{4} + \frac{3}{4} = 1$$

$$\frac{4}{5} - \frac{2}{5} = \frac{2}{5}$$

$$\frac{3}{8} + \frac{5}{8} = 1$$

$$\frac{6}{7} - \frac{4}{7} = \frac{2}{7}$$

$$\frac{3}{5} + \frac{1}{5} = \frac{4}{5}$$

$$\frac{3}{4} - \frac{1}{4} = \frac{1}{2}$$

$$\frac{1}{8} + \frac{7}{8} = 1$$

$$\frac{5}{6} - \frac{1}{6} = \frac{2}{3}$$

$$\frac{8}{9} + \frac{5}{9} = \frac{13}{9} \text{ or } 1\frac{4}{9}$$